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T. Burton, D. Sharpe, N. Jenkins, and E. Bossanyi, Wind Energy
Handbook. Chichester, England: Wiley, 2001.
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Almost everything you ever wanted to know about transformers can be
found in

M. Heathcote, J&P Transformer Book, 12th ed. Oxford: Reed Educational
and Professional Publishing Ltd., 1998.
Another comprehensive transformer title is

W.T. McLyman, Transformer and Inductor Design Handbook, 3rd ed.
New York: Marcel Dekker, 2004,

A good transformer book with a strong economic focus is
B.K. Kennedy, Energy Efficient Transformers. New York: McGraw-Hill,

1998.
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